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PART-A / sm-A [COMMON FOR ALY

1 In which of the followine diate .
LA 0L e roliowing district of | 5 Which of the follaus ~
1 5 s . = R x I ine § 10T " e M R
Rajasthan, Dravyawati River is facing the o .LG sovi/mg' orest product ig CIY Which s
problems of water pollution 2 a.s§ for making wine in rural areas of ?h o Konda
(A) Karauli (B) Alwar Rajasthan ? (A
F 1 AR
(C) Bharatpur (D) Jaipur (A) Bamboo (B) Mahua (B)
TSR o Freffed Rct F @ frad, gmad | () APple (D) Mango ©
T T WG ¥ TR Tl wre e rreferite % & B a1 e T & T o O
@ ? & ¥ SR SN ¥ ww fvr s 7 ‘ﬁm
y v {8
(A) B (B) smax (A) sig (B) wgan Jag
B)
(C) weege (D) g (©) 3w (D) e (©) s e W
() = S
2 In which region of Rajasthan rav: (D) Ry & wrgmredl doen held
1 1 ajasthan ravines are | g hicl . L A i
found 2 6 Wﬁ;@g one of the following river does not & ‘}f";
(A) Chambal Basin flow in the Eastern Plain of Rajasthan ? 10... Who built the Mehrangarh 2*:/\
. ( (A) Rao Maldes ' ()
- (B) Mahi Basin (A) Morel (B) Banganga &) ,;zao I}/;{:i:uul ey
. : i Hal Gna A .
(C) Chhapan Basin (C) Kakni (D) Dhund (€) Rao Jodha e e B
(D) Sambhar Basin Fretifeser % & @ & T o % ot e AT gglﬁ'%" T T e e
TR 5 R R A S Pt ¥ 7 ¥ g AR 7 R O (B) T
(A} T éﬁ%’é (A) ) (o) & wled (L) IS wdiviHn (O T G
I”é(?-‘ ‘ (B) W]Tn ‘ P VIR Mien
B) =t iy ' . . (D) e
gC; § (©) writ D) % 11 Which ruler of Jodhpur was conferred the v
D) = title of 'Sawai Raja' by Akbar 7 15 ;
IRES . N Wimta Taia Tldaicing
T 7 In Rajasthan, which of the following is 6 Mok Raja Udaisingh
: . Wiaharaja ajsingn
. L considered as . 4 A
3 Which of the following city is situated on ; .a most fertile type of soil ? (C) Rao Soorsingh
the bank of river Jawai ? () Sandy Soil (D) Jaswantsingh - 1 (€
(A) Pali (B) Jalore (B) Yellow Soil ST % Red 9T @ e ¥ qerd T @l &, ¥
(C) Jhalawar (D) Chittorgarh (C) Red and Yellow Mixed Soil Ty yer wmy ooy 7 TS 3
Frefofed oredt & & @ 1 o =& ¥ P (D) Alluvial Soil (A) wrer T SeaiiE (A) 129
R & 7 TR ¥, F ¥ ¥ @9 W g e watfrs (B) BT TSRS (©) 13«
(A) el (B) s SIS et AT W § 7 () e s 16 Which of (h
(C) srerers (D) frlems (A) I TaT (D) wraris-—1 context of painti
B) gl ~ (A) Sa
4  Which of i : ®) i 12 If a tourist wants to visit the big water tank ‘
ich of the following Chambal Project (C) v ud O Pl N o S BY Al
produces the highest hydroelectricity ? W SUUCHIING pace anc Hie P i
(A) Rana Pratap Sagar (D) sl o | ?e@rsii ‘{.ua:n?eé% which fort should he go to 7 (<) 1&
(B) jaVJahaf Sagar >A} }ﬁ}g?ﬁ"ﬁ i?f{g [S\ ;:5%
. . . . () nargarn fp} nfﬁ
(C) Gandhi Sagar 8  Which of the following district is not 2 main P E{Ja S ?j o
— (C) Kumbhalgarh fort
(D) Kota Barrage producer of Catechu ? }gi At ;jm ;A; o
%Z—T{ ﬁ . . L iU 10U ( . R
i i‘rmﬁ ISt % iz’e‘ﬁ RIS (A) Bikaner (B) Bharatpur afy B wiew fusrw T & s, A SR @ -
*) g PR Tl S ¥ 2 (C) Bundi (D) Jhalawar | BTG T TR GO SR wiedl § O $E! T SRR, TR
AU NI fefeTee Raet ¥ W B W w5 B I s | Req fow o wrn =g ? ﬁ e ‘
(B) wramex wrre Ty ‘ (A) TS “3"‘{% (B) SarieT S @ e Yy @
. el e { T gH
g e J (A) S (B) g (B) mewT® g
BT T ' (C) e
© (D : (©) gweme g
364 | i (D) #s (D) wmr g
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17 Out of the hy In wh h
ict having red and vellow soil 9 group o
(&) Alwar- I (A} Eastern
Gangan (B) Ajmer-Bhilwara (C) Southern
N T ] . o, e
Sk K:C) Haran-Tonk TR S Tre Wy o oheE THE i Ha
(N thpur-Pali
ST & “ N (u,ﬂ Jodl pul ) . - 5 7
RS R4 ) 1Y s e «] °
N : Frfeifae gt & o @ w1 R g & o ) -
* drgm TRy W W ar ¢ A e @@ ) (A) T (B) wzEH!
GG ey Hﬁ?f it / ey
(&) e (B) R n (C) =il (D) =Tl
\ “ L {A) m-@'{'ﬁi§'{ )
(C) wirerge (D) et (B) et emars: , does ot flow | 2
(C) w2 26 Which of the following river does not flow | 3¢
T Vi i
herk j¢ yeed ¢ . . : H +~ district 7
18 herb is used to (D) Sreg—urh in Ajmer ;dzsmg o T
(A) Khari (B) Dai
, i o o e Ndeo Tt e . \ Wans D) Banas
(A} Brahmi (B) Arjuna 22 Siddhmukh-Nohar Irrigation Projects s get (C) Mansi . ( N & (A) ST
(C) Aloevera (D) Ashwagandha surplus water from the s TIVETS, e & Qo @ w8 ome e ¥ waiea | 2{} Tm%
- . i A
Frfefed % & @ @ sl W e (A) Ravi - Beas 0 Rt
~ 5 avi - Sathui ‘ = TP
T F T 7 K? é{m}ﬁ ‘~ b;ﬂuj (A) @l (B) =& 31 In the Battle of 1857, only ruler who led
; ) Satly) - Bess : ~
(A) sreh (B) ofs 2}{ P;zwz’j G;azgha (©) =l ) = the ﬁ&m/ pimsert 7
N (D) - r | Singl
(C) varcrarer (D) aryepian - L T a— :
e et Riar o aé{mmm it 27 In which of the foliowing district of
e o) ure T . o e
15 Which one of the following grasses is not i\& d; A gl g Rajasthan, 'Jindoli Tunnel' is situated ?
grown on western dzs cts of Rajasthan ? (A) T - = (A) Jaipur (B) Alwar ,
{(A) Lana (B) Sevan f? o (C) Udaipur (D) Rajsamand )
(C) Dhaman (D) Karad ) Rt o T % P Rt ¥ 2
[ — ¥HY
i cﬁﬁm&?ﬁ@f&?ﬁ‘mm T o qiverey ) Rrad Rug & 7
e R (B) gEidg —~ ST
; el s Sid 7 rre e ~ . . . IHET (5]
focll 3 781 ¢ el 3 23 Which of the following dam is not (A) SEGY (B) O) TruaiiE — YaTe
(A) @ (B) e : D) T (C) =R
S St producing hydel power ? (C) sEayX D) X D) ol a - \Q,GL(;@;:{
(©) g (D) = (A) Gandhi Sagar Dam W)
e (B) Mahi Bajaj Sagar Dam 28 Which one of the following pair is not a 3 Who was the writer of 'Rao Jaitsi 1o
26 How much change has been reported in (C) Kota Barrage correct match 7 o B
reg wo years in the forest are ha v . . Sedpiod whaaane oo
;C'e z% two ye g ) . 1 ;; a of )] gagvi;f Sagar Dam - Climate Region District (A) G H. Ojha
asthan according t rest & - e ! T ol B (E .
A;agfs:ﬁa, according to Fore £port . 7 TS W e B Y & According to Koppen (C) Bankidas 1
20197 * - et 3 e
(Ay =57.51 Sa. ki \' e g uf (A) Aw - Banswara EERCHE IR B
‘\ ; —5/.51 ba. fim. (A) 7en { 919 {B) BWhw - Barmer (A) & w e (B)
{13 57 £ Qo b ey 11 :
\3‘ +57.51 S¢. K. (B) Rl — SR 9T g€y i (C) BShw . Pali (Y gt {3}; Ty AT
(C) ~16.79 Sq. km. (C) wrer & D) Cwe - Tonk e
(D) +16.79 8q. km. (D) SE®T E e Prffeg g A AR gm Pw A E 7 | .  Dynasty
ey ] 3 § e
7 2019 & wRdm g ?ﬁ”é«f@xﬁmﬁz@% N -
T * 1 £l " %‘%%w kS i
& o F e ¥ e Swe ¥ Reae iR | 24 In which of the year, Q@seﬁ Development o " _? ,
sy 7 Programme was started 7 VAT e . o Ak (D) Utthoonak
5V ’ ) - gﬂaa \“ - .
A) —57 51 o Fry Frafalea % € few =, WS R HRIET 5 (A) Aw : o MY wEl o
‘( x} - O TR ? {B> BXN%}W - W : ‘ Ja5LY ,..,wﬁirw
: e Y !ésal KRl L (AN TTEET s RS
(B) +57.51 = Tl . - o (GYARINE v
(©) ~16.79 =t falr (C) 1977-78 (D) 1981-82 (D) Cwg . v
(D) +16.79 =} el
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| Electrical Engineering / T il

of transistor as

inction is

48  During normal wm‘ki“ g
amplifier, the emitter
{A) Unbiased
(B) Forward biased
(C) Reverse biased
(D) Short circuited
Y UG T 9 gade % w9 § e
ERGHE I G T T |
(&) Fwea) g ¥
(B) o garRn gy §

(C) =gwpm oguT TR §
(D) wg aftoy gar ¥

ey

36 A JFET has high z‘npu% impedance because-
(A) it is made of semiconductor material
(B) input in reverse biased
(C) of impurity atoms
(D) none of these
e JFET @ arrra ufasren o o ¥ ogife—
(A) T8 srewwe et @ e B ¥
(B) ¥ S@pT weUT BT §
(C) o s1g/g T B ¥
(D) 5719 q w7

51 A JFET has three terminals namely
(A) Cathode, anode, grid
(B) Emitter, base, collector
(C) Source, gate, drain
(D) Emitter, gate, collector
T JFET & dF <RiFa 2 ¥, fwer =m &

N
(A) s, Wik, O
(B) SwEeie, WY, §URS
(C) @i, 2, 3

(D) Sowies, T2, quES

32 The leakage current of a
caused by -
(A) Heat energy
(B} Chemical energy
(C) Barrier potential
(D) Majority carrier
T PN gy & e ema e i § -
(A) aidm sl
(B) ot e
(C) sways fawa
(D) sg=a gmes

83P4 ] m%

a PN junction is

&

55
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resistance 7

T\ "
{g} Ghﬂ“‘qu@ 14

~

o,
>
R
PR
=

=

{P @m /ﬂ’ er-

L —

o

i

(&oi (B) st
(Ch (D) ang/d SZiz
Property of magnetic material which

opposes to establish the flux in it is called-
(A Magnetic flux

(B Magmgmﬂo’f ive force

(&3 Reluctance

(03 Magnetic permeability

YT e @ Ts g‘ﬂ? S eEH wReR Wi
B @ Rl avan ¥, wewE &

(A} YD TG

S g s gw

@apinay

Which of the following is true for the

parallel connection of resistors ?

(&% Voltage in each branch is different

&;8] Current in each branch is same

~Total power is equal to sum of

<individual branch power

@% Total power is equal to power in any
branch.

i & TR B gale & fre F ¥ e

BT T ¥ 7

Y. udies gmrer ¥ Rrerg fee g

YE e T S A

T YR BT A T i by st %

W % AR % IO B

(D) wo sifery et A1 Redlh we ey @ oifte
% AW & TUET e |

o
N Ye

A capacitor that stores a charge of
0.5 coloumb at 10 Voli. The value of
capacitance of capacitor will be -
(A} 5 Farad (B) 10 Farad
(C) 0.05 Farad (D) 20 Farad
Th G 10V Raw ot 0.5 e a7 sndar
A W eI @y il o we e
(A) 5 Be (B) 10 Hus
(C) 0.05 %1 (D) 20 %ae

| Electrical Engineering / g st

&8  Which of the following is not a function of
wansm mer ol | ‘
(A) Cooling the - primary <ol
8) flﬁmfrgi e secondary ¢
(C) Providing additional insul
! (D) Providing inductive wmg%’

’@aw ¥ o T ant e dew Y
(A TG g)scfii EAREIRGE
(B) fedmes g @ e
(©)
(D)

T G YEF BT

89 QOpen circuit test of a transfory
(ﬁ;) Hysteresis loss only
(B) Eddy current loss only
(C) Hysteresis and Eddy ¢
both
(D) Copper loss

vﬁ/ ufyonfissr & ger areey ale

Bd @G

) a e i
(B) wee e T B

) Sifyer e sfex wra el S
(D) @ =i

60 Full load copper loss in
1600 me What will be i‘ﬂg copper loss at
half-load 7
(A) 6400 Watt (B} 1600 Watt
(C) 800 Watt (D) 400 Watt.
we ofvonfer % qU W W A sl 1600
Tz ¥ | ong quf-wiT OT 9w E e w7
(A) 6400 9 (B) 1600 T

62

(C) 800 T (D) 400 @

%

83P4 ] ks

N o1 T 61 Time (1)
e ———
(A) 1.0 A By L1 A
( \
™ g
() 15 A (D) 2.0 4

Root Mean Squ
by aqu&tm;‘

[
i=10+5¢c0s{628r+30
\

7T % BT T g ¥, 9T @ -0 T
HH B -

5:394—5%{@23;%%0}
(A) 8 A (B) 10 A
(C) 106 A D) 15 A

QQ“{%WW’W@W*‘

gy o=
2000
WA
. R
12V S
7o
(A) 20 mA (el Ywer)
(B) 30 A (el Thuoe)
(C) 60 mA (B ¥haR)
(D) 120 mA (Rl TRwer)

| Electrical Engineering / g B e
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64 Capital cos

66

67

| S—

o gn Yatra ia Mioh .
oer megawall 18 ughest In -

- e

g

(A)
(B)
(C) Nuclear Power Plant
(D) Hydro Power Plant
- . - D . W
W R SN TR 9w g ¥ -
o A

(A) W foers &

N hYS
(B) s fogae &
C) witmE R
T-fgeE &
following is a protective
lightening over voltages 7

Isolator

(D) Distance relay

F= % @ 39 w1 9 afy e % Rreg o
YR IUHTT & P

(A) TS saaw

(B) yores A&

(C) geramm

D) 3 @

Which type of following insulator is used
in 132 kV transmission line ?

(A) Pin type

(B) Disc type

(C) Shakle type

(D) Stay type

P % § o 1 s 132 % e ww
¥ TgET T Y 7

(A) f= wor @

(B) fsws wanrt @

(C) drme v W

(D) = wart @

A bus-bar is rated by -

{(A) Current only

(B) Current and voltage only

(C) Current, voltage and frequency only

(D) Current, voltage, frequency and short
time current capacity

T TH-SR & M s § -

(A) o gra &

(B) @ ury oo fawe @

(C) @ ara, frver qum amglhy @

(D) =y, fva, smghy aun oreg ooy ey emar
S

Y]

83P4 ] ok
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76

Ty M £ EAPNE S DR - e
Which of the following quantit

-

is equal to

o

=
g
<
&5
LB
»
~
s

i N

" W

R
.
o)
[
Lt
@)
[t
fons
[y

Do

L

s
[N
<
e
o
?
¢
&
2,
o]
>~
o
4]

4
A
at
3,
el

@ i 1.0

H
LNV

f—are—ter %

gt
BN e T
oo & W
th N O,
£
£}
94 3

~3
< L
~b

o]
ON W2

According to Kirchhoff Voltage Law, the
algebric sum of all voltage drop and e.m.f,
in any closed circuit in a network is equal
o ~

{A) Positive

(B) Negative

(C) Zero

(13) Depends upon em.f. of batteries
fesvats & fawg % Premge R €95 ol
= well Ry aun frans. & Sl g
T -
(A)

(B)

STeTeR
O

© &=

(D) =0 & frans. o Pl s

]
&

Superposition theorem is valid for which
of the following circuit elements ?

(A) Non-linear elements

(B) Passive elements

(C) Linear bilateral elements

(D) Resistive elements

ST Sy et & R aramrege wiwy
% g ot ?

(A) e rgag

(B) iy sraa

(C) i fzud e

(D) wleredr areeg

| Electrieal Engineering / fga sruaiay
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lines, | 82 For what value of resistance across terminal

A-B, the power transfer will be maximum?

&
=0
o ¢

TREY & RRY A-B % 78 qhide F @9 @ v Sowd
fAY 0
2 © o - o . i S i
% oy it st a1 e g B H
(B) B
im >ircu 60 (C)y Sh

@-’T%’ g 'PCZ* o w—{"@'“\”‘"’?’ SIEG ’?, Cneé* Treger \/\/W“‘—oréi {;ﬁ} O

ferie ¥ ’ oft e

(A) sty 3w ofuy Rreiws N RS

O S ~ o
(B) Fefa whuy R 0y T 30 TE T

Y ST P Seis ; - N ey
(O} SF, uitoy Refiers 0V (A) =7 1o1 .
<§2}> \‘i\rgi‘@‘. éfﬂ- HEEN) Cﬂéﬁi@i {g} TEE Gﬂ“’f‘c’éi-ﬂ tnicK

/ s

°B - {C) wg-uRy ®el HEw (A) Re

. 4 2 Y Ke
79 Merz-Price protection is used for - ; (D) s e

(A) Substation k - @ 20 B 20 v (C) D

A uostalio e
(B) Capacitor bank © 60 (D) 1842 86 An outstanding feature of a universal motor D) S s
(C) Induction motor is it's TH TR wE groEel § w9 B @ 9
(D) Generator . . oo (A) Best performance at 50 Hz supply e P & e
e erator _ A 83 The value of current T in the following (A D:’“i perot B T I E &, i
IS G FO W e ¥ - circuit is - (B) Slow speed at all loads DC | (A) wiady g7 &

T W i C) Excellent performance on DC supply N , S
(A) Tt o e wfitwy & ary 1w am ¥ - (C) Excellent perlomna (B) dermdfivat vs @l
(B) duiy ¥% & R f * (D) Highest é{W/}{g ratio 2 N

g d . N Y AT :,:a""%'?;-;'.‘:",

(C) 3w =y % fog i e @ o e R 3 (C) FEHa woeEl &

‘ ( s qests (DY g e B
(D) whw ¥ g W (A) 50 Hz yam T s vl (D) o 3
30 30 30 (B) ¥ 9R W A I .

" N 4 N - . N Y L) £ T s 1 Towrwell By 1(‘; 501 |
The insulating material for cable should (C) & & e W gads vesl 91 Maxwell bridge is used
have @Hﬂwmg propertie (D) v=7 foeEm/ia Jue (A) Resistance ()
(A) High resis Wﬁj + (C) Capacitance ()
(B) High dielectric strength - 7“‘ 87 A 10 Pole AC generator rotates at e O
{C) Low permitti vity I 2V 1200 rom. W Qaé will be the frequency of (A
) ; 1200 rpm. 4 {

(D) ANl of these f

\
X \ ;’ gme;a&‘ AC 1 ( /
T ¥ gw g o F frefiien () 05 A (B) 1.0A | 10 Hz \

| (A) 120 Hz ®) 11
Fadte i ey @204 @404 | (C) 100 Hz (D) 50 Hz
1

~ s y a7 Vi hish
(A) =g wirdvese T 10 g ol T E 9hE 1200 et wm wx | 92 Which n
' : ( . . o o o F
@} v T aee 84 Value of current T in a junction of following ol ot ¥ | e T @Y oy R B 7 p@xiv er of a
() 7 e ;m;uﬁﬁml beﬁ“ (A) 120 woa (B) 110 ¥ a three pl
; o o 17 Tme T Wanm
(D) T g q % S H g T & 9w (C) 100 Erast (D) 50 Yo numbers of wath
BT (A} @;ﬁ wat
Sheaths are provided in cable for - ' 88 One of the advani;a.ge of distributing the By 1
(A) Providing strex ngth to conductors ZA winding in alternator is to )
(B) Providing insulati ion (A) Reduce ;i.g}ége (D) armet
™ P To) 5 3 £ SN P gy Dy e
(C) Preventing g moisture from entering into 1A {B) Saving mn copper e P ahuy o FET W B TR B
N VY H T X 1 D e £ ¥
. cable ‘ ' iA (C) Improve voltage waveform P
(D) Redumﬁg capacitance * (D) Reduce harmonics et T & o et 5
a,)f‘"v‘r ' - - SIS thel ¢ A A LR G R .
o St gar S & - i T MEeTe] ¥ [9aid GEEH B GBI WY T A S
T ECHET TdEi ¢
(A) uwr@ﬁw&?wasﬁ%@ A (A) 91T # wh ? Lo w&w S
. =Y ¢ e ¢ m 9
(B) quwml g (B) m%r \Mf% e @%1
) o Y ®ogEeHel U8 ¥
(C) Fuw & anden & '%w w5 ¥ fra (A) Lo A (B) 2.0 A (C) fowa gl & guw C) B aet }Qﬁ; .
C (M) 2 . N Br e -
) AT @ B T P—‘Q C) 0A ) 3.0A (D) RICHECE R (D) B oarewrd el ©
[ v . . - - £ P
83P4 ] m%j% 12 | Electrical Engineering / e oty 83P4 ] =P 13




4
Do 4
B meverse current
(C) Open circuiting
¢D) Short circuiting
oy eyt o - £
L WS TEIS gRET TEE e & -
A ey
(A) T ¥
(B) =gmw g ¥
R o -
(C) oiay & gem §
(D) &g uhmy 29 §
95 Moisture content in the soil
the soil resistance
{A) Increase
aE} Decrease
(C) Does not affect
£y ;e e vars 3
\u} rirst increase then decrease
Predl % ol @ =mn, P ¥ ufdy &
!
{ [T ST 3
(A) gfg &t ¥
(B) & e ¥
()
(D
A SnalV)
e
1383
.y
R RAY
(B)
(o
U/
{7
(2)
Ai g
aop mpornd
-
(&)
TN AN
(B) & omm-ore aar Rl
ITaN .
(C) &7 are-arm T e xﬂﬁw 5]
/T g oy . e
(D) =R ewm-aw @ fqwing
8P4 ] Ik

oy
B>

| frge s j PART-B-1/%%-B

£V Y
OPTIONAL SUBIECT / Yahus R

37

SED
o0

99

Ts o
iU I8

(A
5\,; ,m}

/"g}\

[y s‘{y
7N ;
) 1ty

Ty T
\B; it
FERT @) TS BN o § TRy -

n@i“@ﬁfg’g e ,@@e z}/
i 4

(o]
7 e o
\A} FEHT o Ted BT

/;ﬁ,!il

N ow . -
B) gue! vyavrar vy gk

SRC
R

y
4
4l
=
&
3
ap

In the magnetic field,

) Direction of force on conductor
g & ¥, v wy & P @FIFS! BT
SR ear ¥ -

(A) a1

(B) fawe

(©) gem ém

(D) owe o §@ @ R

Which of the following
material ?

is a ferromagnetic

(A) Nickel
{B) Copper

(C) Aluminium

TR

| Electrical Engineering / fage sfitE B

100 An overexcited synchronous motor draws

current at
(A
B)
(C) Unity power
(D) Depends on other factor

@ S-SR NG Al S W § -
(A) ugEETH g e )

(B) STIRTRY STieRT Y[orfes OX

C) g STl Ui OX

(D) g &re T Pl &R B

Lagging power factor
Leading power factor

factor

o~
N’

101 The V-curve of a synchronous motor is
drawn between -
(A) Field current and back e.m.f.
(B) Field current and power factor
(C) Field current and armature current
(D) Supply voltage and armature current
T eI Hel § V- ey § -
(A) & g aur e e, o
(B) & gt aer iR qonies |
(C) & T T STEER O o
(D) fave wEm qYr STET 9iy o

102 What happens when one phase of a
synchronous motor is short circuited 7

(A) Motor will
(B) Motor will
(C) Motor will
(D) Motor will run normally
T GBS AT B Th Henl aguiey e
o /e 7

(A) T TETEEE T8 8T

(B) WX T ¥ S

(C) =X w@ e

(D) WX P B9 ¥ S@EAE B

not start
get heated

burn out

main switc

even when
ig-

(A) Speed error

(B) Voltage error

(C) Freguency error
() Creep error

j’@“ R & & W q
fows R8T ¥ O oue T E -
{A) I é}%

{B) e g

© \mqf‘“ e

(D) ferader gﬁ

EEGEUTIICHE

;i})

104 The wattmeter readings by two-watimeter
methods of power measurement are given
as W = 100 kW, W, = 50 kW. Wattmeter
W, gives the reading after reversing the
connection of its current coil. What is the
power factor of load 7
fa—arerdiex gt i ¥, reee @ T
W =100 KW, W, =50 kW ¥ 1amediet W,
@1 O ST U FEE @l b BT WX
e B § | Wi ST SRR e w7
(A) 1 (B) 0.655
(C) 05 (D) 0.866

105 In which category, the domestic energy
meter falls
(A) Indicating type
(B) Moving aluminium type
(C) Recording type
(D) Integrating type
e ST T W Bl & -
(A) T
(B) =@ TR
(C) erfyere
(D) gomma

106 Which material is used as coating in CRT
of a CRO 7
(A) Carbon (B) Sulphur
(C) Silicon (D) Phosphorous
CRO & CRT Rwwt & oy oF ¢ w&r &
o R S
(&) BEw
(C) Tufwe=

(D) @y

83P4 ] ok
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187 Fot-Arc heating, electrodes are made of -

Copper
tuminium

[Electrical Engineering / | fgE Rl

112 An increasing current in magnitude
flowing from x to y in g:ivs*f; figure. What

Kraphite will be the direction of induced current in lo
<D> 'ACSR conductor conductor loop as shown in figure 7 (B) In
?W% Rk '%“ ST 9 BT ¥ - hi
; - Conductor (Cy b
“’m rd Lol
NE leop hig
%\ J (D) Initial co . .
N & I BT [SHEE
A g-frga R N
f = (AN STV T U, OO S e FaRi TR @ [WEHE
108 W’% en 7' is the thickness of the sheets, the X 34 S ' [ @ ST
1
tip diameter for spot-welding is usually - o ; B e e e TRETE e e AR qUE W aTOEN
w0 e @ A ¢ Y @ wie dfer (A) Anti-clockwise AR
wgER e @ s g @ - (B) Clockwise | L . 117 Energy mefer measures eners
4 Y {(C) &Iden T o, ) o)
B (Cy No current will flow v %; e i (A) Joules B)
. . . . ke SRR V4 D O S & B A Y Y
\ 1 (D) Some time clockwise, some time anti- S N— m 7 3 (C) Kilowatt-Hour (D) Watt
= . (1% @4 St ] m et B e ] W
®) t clockwise j ®) f S A ) st ol e W B8
e S, O
et 1 3 x & p Y @ik erer & o g ’ (A) 5w ¥ (B) Rewere
109 Ly 1g 4l 11 - : . oy, B T W Yaw o
men / Watt is the unit of ERCENRCEFCIE R 18 T e iod is defined as - (C) feerare-dor & (D) @R
Al }2%‘_1 1% Load facior durin g a perod S Hied as
( } ight Flux T @) Rew w a6 2 115 Load I I
! * £ 4 e 7 3 e
zg} éum;lnous Intensity Average ;{)ad 118 Commutator of DC motor are made of
Tuinons & (A) Tnstalled capacity { ) Copper (B) Cast bron
(D}Lummous eﬁimency RS Installed capacity (CY Steel (D) ?&%SW
gl [ B 1A @13 § iy
PSRN P oo & 25wy ‘\”“z;nz & n“‘ﬁ\"mo
‘ﬁﬂo’r RGeS Average load ‘o € @ WY & EuEde §Y S
(Ay s i ' (B) d (A T (B) s @@l
Viaximum loa ) eHel
(B) v draam @ - Maxi 10t PR PR —
(C;Wr;l!]ahéiqii @ {C) &0 (L) <%

k\b
- faximum load o
(DYudr Tema X ¥ (©) Maxin -

Average load

118 In &fluorescent tube circuit, choke acts as- (A) ared . L
(AY Starter (B) <R , ) Maximum load
(By~Power factor i improving device ' ] , " Installed capacity e o .
(C) Source of heat (C) »E urq yenfeq & g - S I PN — (A) V b (B) V=+2E,
(D) Current limiting device (D) =l shromed agr ) T il SRR L 2
?W@EWWM = B e & - v
. A A A CRY T s f};\\? %:“’ :""’e‘,;;; ‘\i
113 Unit of magnetic reluctance i FrET AT (C) Ep=- W) By T s
(A) @l T (A) Amperi — Turn o (A} ;\w T;;’_”i”""“ z
fi} SIE G YU 95 B aE (B) Ampere/Turn T &7HET .,
© W ﬁ. o (C) Ampere — Turn/meter SIS o
(D) gr Free 93 @t e AL
| (D) Ampere — Turn/weber e WY
111 What is the Potential barrier of Silicon ? gAY SR & SR W
(é) 0.1 Volt (B) 0.3 Volt (A) qhoar - o m;mmm.;g;w
(C) 0.7 Volt (D) 1.5 Volt (B) Rt HEe U
Tt a1 Riwer s Reaen &9 i
- BT
(A) 0.1 9we (B) 0.3 giw fc) T - e (13)
(C) 0.7 e (D) 1.5 gk (D) ulwr - /Ast
83 ?4‘ :g E.:% }6 l Ei ° e @ 0 . - H 4 =
ectrical Engineering / fga siwited 83P4 1 z:%:z L
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131 Which is not “‘ze {
mp 8 from variou ki
121 Otto Cycle Air standard efficiency is - 124 The flexural rigidity for the defiec ction of o . [f\ novAnon
31T w @ any T e ¥ - beams is expressed as - . paing
& % e % g e st @ s R TR® -
1 s : (c
(AA} ﬂ = 1 + "“-’;;:}-— STt & ] X i ) Y &;J{D ié% 3
4 H . o " i b \‘ £Y kA i TR
- ) 1 | A) Ng =27 Ty 314 o
. (A) Ei B) — i, Hm EEY
(B) n=1-—— 2 A)
! E ; B)
| © 7 ® 5
(C) n=1 — L : = ")
Py Where E = modulus of elasticity and 7 = " ) i
moment of enertia. not lubricated by 132 Hartnell governor is a -
(D) 1= 2__ML wE E = TRl W g /= &g \"S:i'Tngi; | pre (A) Pendulum type governor
o | (A) Timing gear o (B) Inertia type governor
X . . i i 1 i (B) Valve rods and push rocs (CY Dead weight type governor
(Where » = Compression ratio) 125 A close coiled helical spring of stiffness (B) :{QT - };C\; . %ﬁ’a led type governos
- . ) 4 N/mm is in series with another spring of . (C) Rocker arm o ‘\i»> Spring co % HER PR B
= gii?g;ﬁ : i o 1 2 im g £ ppory ey r\(r;i 3y -
SRl AL stiffness 6 N/mm. What is the stiffness of - »\;f} Main bearing of ¢r iz%\sw \ SEE IR RIREEED
e -5 o T W e r it
, composite spring ? frefiRee 97T WY O TOTR § EE SRl fo (A) T GBIl &l ;%i%w;
o e . . Tehld © 1
122 Friction power of a engine is. - Th HqT predEr R Prge g sy - (B) v et @ \"Tﬂ SR
R . . , Y SR 9T Yo G
(A) Difference between indicated and 4 N/mm 2, st go@ v Rrme \Eg?f@?{?ﬁ (A) T79 w9 e }ég Ao Prefim &q;} @ P
§1 i AR AR
brake power of an engine 6 N/mm & @ Sofierg &, o Tgaa o e (B) s B 9iI{ TF B |
(B) Difference between indicated and fuel g gl 7 | (C) < 3 133 The brake commonly used in motor cars
power of an engine (4) 10 N/mm (D) % dre @ geg Sur s
. . B) 4.1 N/mm ‘ \ d brake
(C) Difference between indirect and brake B) . con] (A) Band br Kw; e brol
: (C) 2.4 N/mm 126 Air-fuel ratio theoretically for a peiro! (B) Band and Block brake
power of an engine 126 Air-fuel ratio theor fically e
. (D) 20 N/mm . ’40“%"1‘3 M a}'}?‘f’,}}iifﬁ’rﬁﬁgm‘% - <€> Sﬁ%ﬁ @l@i{&w
(D) None of these SW’” T P ~ZY ST ( S} Internal Expanding brake N
; @ Ty TRy & . . . . H§<| 3‘“’%1%5\%@%;\:&’@5 Y T f\ﬁéﬁsﬁ F T T Y —
Uk ES17 9 - 126 An iron girder of uniform section and s BT b - e @ @
. . . H3Y 8 N 3 .
(A) $5 o wolaa ol 9@ afmr & € AT constant depth is freely supported over a (A 147 ¢ 1 (B) 20 : 1 (&) 2;5 9: Y
; : . , a , R pd o (B) §& di{ =& 90
(B) 3o & Wk ok dem orfe % Sy s;;an ;)fKZNS m on the ei;ids Ifa cemril load () 25 ¢ 1 (DY 10 : 1 >p< o 3%
0 is  working on eam, N .
(C) &1 % e ofc 39 by % S oiee =8 x 106 mm? % 105 2 I T (D) el el 8
=8> 10°mm* and E =2 x 105 N/mm CRD /
D) 375 ¥ 3% 78 130 In injection system of diesel engine "CRUI
) are given, then central deflection of beam ; o full form) . Al toraue i %m.
i stands for - (Il 1orm) 4 The frictional torque transmit
will be - ;A} Common Rotation Distribution 13 plate « ; tch considering unify WEE
123 In a four stroke petrol engine - U W B 9T S A daem a g Imiection - Q2w B0 T R 3
W .xﬁ,z_{ 0 . A,JM WARFLL - s e £ .
(#) intake valve closes before IDC. 4 @ %3’;%.@%{ > e R R ~ (B) Common Rail Driving Injection o tﬂ?’ﬁﬁ a‘ém %‘ﬁm it
(B) intake valve closes after BDC. IR T %“5[ | AR T W 3 kN (C) Common Rail Direct Injection . ; R
aﬁ j: . s - 3 \ 3 ;u; :L“’ s 3 ‘1-—2
(C) exhaust valve closes before BDC. g&}m ﬁTﬁW , T8 3 e i (D) Common Road Direct Injectio QS B3 ﬁ
- s freoprne D T { '31’ ‘.
(D) exhaust valve open before TDC. s ) 5 S O S SRNaTe g | : |y - Wi (1 + 1)
‘ . (af L = 8 x 108 B, E =2 x 105 N/mm?2 s ¥ - (R @9 (B) 3
T TG ©lH 99§ - et T 3 e ® N
T 5) (A) B TLIF ST x%ﬂﬂr ERERlE oy 2 +7y)
(A) TDC ¥ vsw 372w arvar v 2hr ¥ | (A) 61 mm i e s (©) W (n+r
. () sy W QIS § T
(B) BDC @& uyamg 3wieer ameg o &m & | (B) 0.61 mm N - 5
W\ 7 C) 6.1 (C) w7 (W STIER Foa (D) —uW(n-n)
(C) BDC % et I & T E ED; 81 o (D) =TT SHEE SO 3
~ = mm AR
(D) TDC & weet g ara g & | P ——-
8374 1 o] 19 |Mechanical Engineering / 1 apfiifEn
3 | =] ’
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135 Newton's

law of viscosity is a relationship

between -
(A) Pressure intensity, velocity and
viscosity

(B) Shear stress and angular deformation

(C) Pressure intensity, velocity and angular
deformation

(D) Pressure, temperature and velocity

=TT W YFW F FEE $ A U g9y § -

(A) == da, 9 T U

(B) eweqw giasw o sl Rragw

(C) =m dmr, 3 oK el R

(D) Tw, am X I

The range for coefficient of discharge (cd)
for a venturi meter is -

(A) 0.95 t0 0.59

(B) 0.8t 0.9

(C) 0.7 t0 0.8

(D) 0.6 t0 0.7

TH LT % P o (cd) @ @
BRI T -

(A) 0.95% 0.99

(B) 0.8¥ 0.9

(C) 077 0.8

(D) 0.67 0.7

137 A simple U tube manometer connected to

a pipe in which liquid is flowing with
uniform speed will give which kind of
pressure 7
(A) Absolute pressure
(B) Vacuum pressure
(C) Gauge pressure
(D) None of these

TS URY e 7w T Q9% @ %‘ R
Ry U-=E el & SeY 1K 98 /e
T % TEE B QR 7
(A) g T
(B) Fefa 7w
(C) vy T
D) T & a8 &

83P4 ] c{%

20

138 The ratio of stress to strain 1

149

(A) Bulk Modulus

(B) Young's Modulus

(C) Modulus of Rigidity

D) Poisson's Ratio

e SR Rl w1 e wer s § -
(A) A TR TOrien

(B) 97 @1 Ui

(C) waw Tiafe

D) uigge emur

/"'\

B) cEy

(D) o*V/2E

(&) GEIV

© ov?/E

Identify the correct relation between torgue,
polar moment of inertia and shear stress.
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Poisson's ratio is the ratio of -
(A) longitudinal stress to longitudinal

strain

longitudinal stress to lateral stress
(C) lateral strain to longitudinal strain
(D) lateral stress to lateral strain
TG WU v @l SIu B § -
(A) ot vhew o ogied Rrghy

(B) oreed uiiew TE SV dioEw
(C) ey Rpfer v ereed ol
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In context of Hydrostatics, which statement

is frue 7

4 £ w7 b v
Cenire of pressure alw ajS 28 apgve
centre ©

(B) Centre of pressure always lies below
e of giavﬁv

»f gravity.

centr
{C) Centre of pressur
coincide.
Centre of pressure does not exist
RS s T Y dm e el ¥ 7
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T

T %R T Yo HE
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(C) o) %% ol [o@ %% TURN o1 ¥ |
(D) @E %= & e 7 Bar ¥

(B) A Rew g

7

The volume of z fluid occupied by a unit
mass of the fluid is called -

(A) Specific Gravity

(B) Specific Volume

(C) Specific Density

(D) Mass Density

5t 5 & ST B TH SHE g O ST
(A) e e

(B) fafire emocm

(C) fafdre o=

(D) gee g9

For a Laminar Flow, the Value of Reynold's
number must be -

(A) Between 2000 and 4000

(B) Higher than 4000

(C) Less than 2000

(D) Equal to 10000

W YA % Wy e dem o Ty -
(A) 2000 ¥ 4000 & we

(B) 4000 ¥ orft

(C) 2000 ¥ =
(D) 10000 % gea
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Laminated springs are also called -
Helical springs

(B} Torsion springs

) Semi elliptical
(D) Semi parabolic
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Bending of Beams causes

(A) Neither Tensile nor Compressive Stress
(B) Both Tensile and Compressive Stress
(C) Only Tensile Stress

(D) Only Compressive Stress
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(&) 71 & wime ok 71 8 weieT whww
GRS

(B) &= olX g W) sfaese we §

(C) waw T gloser @ §

(D) wow TR giiee T ¥

The shear stress distribution diagram along
the depth d of a beam of rectangular cross
section will be -
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! 165 Dra g howing the position of each part | 169 For riveted joint, which empirical relation
164 Pelton turbine is operated under - 163 The ratio @ he mass of actual dry steam Wi gq respect to each other is called P bty e A e
} CC ’ i re is used for calculating the diameter of rivet?
(A) low head and high discharge to the m 1 steam containing if, called (A) Part {farawzzeé
] ) . ) K e N D O .
(B) high head and low disch 1arge (A) Dr }/,‘nm }’f‘* ction B Assembly Qi‘a“sﬁugf et \?‘s\?\% & ?%N, REe & =g &) TOE
- . . i Taclicn , 5 .
(C) medium head and high discharge (C) Machine drawing. . % frg o @ arelie wdy W g ¥ 7
v head and : : B) Moistite p on drawine > EEARS
(D) medium head and medium discharge (B) i'm m %ig%al}uéaigd ue, o Rerfy oy o
o C ) YRR T‘f’ 2 T :52 C{? 5] . e
e TEET eae oradd @ e ¥ 7 © 3@?%1‘@*@{3 steam P ST wSH ; (Ay d=3+1
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A e e TE g9w { Evaporal
\J s (D) ﬂ%&;ﬁ}{@ ion (A) W aTeE
B) 9T Fepe g A
(B) ¥= 9 ¢ EIESIEED SI&%S T 3 ‘fam”«fr“ AT W @ gE (B) swmEINT a@ (B) d=1.9+1
C\ O 3 s t‘{év £ by
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(D) wemq N Q@ e gEE g ze;?m (D) e ara o deiad;
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166 Which of the f@ﬁswwgéﬁm is not related

161 The device used for storing the energy of a 9 A
id 3 : to Cam ! ™ d=064
fluid in the form of pressure energy which (A B . (D) d=6~t
. . . \) Base circle
may be supplied for sudden or intermittent ' , . S y . )
g op ) i ¢ (B) Rise, fall Where, t = Thickness of main plate

requirement. (C) Pitch

g = o
(D) Dwell period d = Rivet diameter in mm

(A) Hydraulic Press

B) Hydraulic Accumulator - = RRad ' %7 ¥ R <
®) 31; : 164 Boiler efﬁciﬁncy is - fr AL 3@ d e SR, /= e W @l qeR
(C) Hydraulic Ram A o T 7 .
(D) Hydraulic Intensifier () Mass @ﬁfgteam (A) MU =% Cd d = & o ag fe ¥
T X Ger B Sl % &9 Wl & e § (B) =@m, $i .
Hfed T % vl SuinT R ST @ e, Ereredk S () s In third anele srotecti
of Steam - ird le nroi -
o6 S @ ST S A %o ®) g::;ﬁifﬁzzr (D) 3@ diiEs 170 In third angle projection
o -~ ) - R ‘ Plan is levation.
g o fed o A Re e & 167 All of the axes in the 3D ordinates system (A) Plan is drawn above elevation
(A) sg—ariaa U9 © Mass sf Steam x Temp. of Steam meet at - o (B) Elevation is drawn above plan.
(B) so-—<ifwa dure Calorific Value of Fuel 3D gEww woner ¥ e o W P ¥ - \ (et e ol . C )
(C) za-afm | . (A) 60° {@} 90° © @b§?5€ is a?oa:e horizontal plane and
(D) a-aif & (D) Eﬂei‘gxo Fuel ~ Energy of Steam ¢ (C) 120° Dy 135° behind vertical plane.
~' Energy of Fuel . o ) d
oo (D) Object is below horizontal plane and
162 Hydraulic Intensifier is a device used to ST T ¥ - 168 A dimension is sta‘ied??zs 25+0.02 mm in front of vertical plane.
increase - in a drawing. What is the tolerance 7
\ e (A) T HEEA (A) 25.00 mm e s g F -
(A) Velocity of fluid T — (B) +0.02 mm
(B) Pressure of fluid (éﬁ 0.00 mm : (A) 9 530 TR g9 % SHUT ST R § |
C) Viscosity of fluid i .
{Dz .;S;G& Y ; ;1 t; (B) _;m 2%" (D) 0.04 mm (B) =@ g0 i 399 & ST 9 WR ¥
(D) Volume of fluid A w ST A m @ 254002 Rel ¥ \ o
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on of dynamometer is - 174 An ideal Brayton cycle cons of - 180
A) Find the Power of Engine 70 isobarics
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Find the Speed of Engine
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Balancing the Engine
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D) Assist to Brake
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(L) €% @ H TR B (4 in third
175 A gas which obeys kinetic theory perfectly i
1 . H 3. %" Amgs : - R i - ‘
172 When the kinematic pairs are coupled in 18 Wf% S ] flywheel i
e e (A MNormal sas Relati ition in fourth ang e P :
such a way that the last link is joined to the {§§ g:}g?ms gas TS e W T T e
o . : . 3} Real gas
first Hnk to transmit definite motion and )5\\ Pure - )
! : (C) Pure gas n} e
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; £ o S
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b . v 4 - 4 £ 8
(B) Mechanism (A) gmmg 9 ' (C) 2E-K¢ (D) ——&
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(C) Kinematic Chain (B) =i g ¥ , ! i
, , Where, / = Mass moment of Ins

(D) Inversion © = ﬁ'im "
W st gt @ 59 e @ SR W B e (D) sl T )
fefes e i wenfa &0 & forg weeht &) | 176 Change in enthalpy in a closed system is

= Kinetic energy
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173 The initial tension T, of the belt is equal P { §; T GUTE B (Ui & w5 9 g
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(A) Tension in the tight side of the belt (C) = RIS
(B) Tension in the slack side of the belt (D) =)
(C) Sum of the tensions in the tight and
slack side of the belt 177 ;‘@iﬁi@f dlagram 1Is 2 ’910; of -
. - s . ; {A) femperaiure ana enthalp
(D) Average tension of the tight side and ‘A Lemperature anc enthalpy - S B
(BY temmperature and entro E \fhﬁ\a ISR E LS
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183 In AutoCAD ‘Explode’ command is used | 186 Mean effective pressure is - 188 The ratio of Force transmitted to the Force | 191 The objective of ‘Crowning’ of
o ~ applied is known as — 1o £ 3 -
= Work done per cvele f"j{;"% %ﬁ knowr i pulleys of belt drive is 1o -
(A) Extend objects to meet the edges of (A 29I Per cycie (A) Acceleration Factor o L n ”
other object, VY T S roke Volume (B) Isolation Factor (A) prevent the belt from running off the
(B) Extend the dimensions to 2 2D object (C) Power Factor pulley
; : . T Ta T p b .
or 3D face into 3D space. (B) Heat supplied per cycle \2} corm ractor {B) increase the power transmission
y | %7 TN = TTE TTLIeT T TR Spery pow g :%':x;‘";’}i
(C) Remove objects from a drawingg Stroke Volume ; MU ¥ T QUG €9 @ FEHURT HEERI capacity
(D) Break a compound object into its N . ) increase the belt velocit
L ' ] . _Stroke Volume (A) T i - (C) increase the belt velocity
component objects. < P . 3 at 1
siteihs ¥ “Explode’ @ams wgw aar ¥ Length of diagram (B) R (D) prevent the belt joint from damaging
A S AN R - al
A) N N % fro (C) vfm uie the belt surface
) O STSSaE & TSN @Bl MW % (T BRF Jures
3 . (D) —>troke Volume (D) Wi T e wiETe @ qUR I @ wRehi @ el
HSSTeRE B TRIES HE | Arex of the diagram 3 |
(B) 2D offesee 1 3D %g @ 3D oy @ 189 In free vibration, the velocity vector leads RS -
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184 The part list in drawing includes - (B) W ST T v
(A) Part number © EY O n
(B) Material of part g e In AutoCAD ‘ARRAY’ command is used
Y N . . . .. ' ) i )
EC} Number of parts needed © Fe e g— 190 Consider a simple gear train consisting of 1o -
(D) All of these three gear s wheels with 15, 10 and 30 teeth (A) Create multiple copies of objects i
d . , - . . N . i HIPIo JOCIS i 4
TET H o g ¥ gt g ¥ - QE S respectivel y. The velocity ratio of third ' Hpie coples of objects im 2
(A) T @ dem (D) — wheel to first wheel would be - pattern
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(©) smavs T @ (A) ‘“2“' and same direction and 3D
{ e
(D) ¥ w=f 187 In aligned system of dimensioning, the , i 1 (C) Change attribute information in a block
dimensions may be read from - % L 8 (B) "’5 and opposite direction (D) Create a region or a polyline from an
1885 Ina t : ‘
; SCA}? syst e;n fan ellipse can be drawn (A) bottom or right hand edges (C) 2 and same direction enclosed arca
ecifying the following - nd ormeaite vt - - , 2
YE pecifying t oving (B) bottom or left hand edges (D) 2 and opposite direction &errs ¥ ‘ARRAY’ warR Wged Bl § -
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(C) Pressure and Entropy

(D) Pressure, Yolume and Temperature
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Dryness Fraction is -

Mass of dry steam
Mass of total steam

(A)

(B)

Mass of dry steam
Mass of total steam ~ Mass of dry steam

(©) Mass of total steam — Mass of dry steam
: Mass of total steam

D) Mass of wet steam
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Mass of dry steam
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Which characteristic is not true for Entropy?
(A) It increases when heat is supplied,

temperature chan not.
(B) It decreases when heat is removed
whether temperature mang s or not.
(C) It remains unchanged in all adiabatic
frictionless processes.

(D) It decreases if temperature of heat is
lowered without work bei pg one as

in a throttling process.
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Superheater is u

the -

(A) Temperature of saturated steam with
increase in pressure

(B) Temperature of saturated steam
without increase in pressur

(C) Temperature of feed-water for better
efficiency

(D) None of these mentioned
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199 Machining symbol given below gives

information about -
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{(A) Surface may be produced by any
process.

(B) Material removal required.

(C) Removal of material prohibited.

(D) Surface is triangular.

S Al v fuew Wl exar ¥ 7

/
7

\
\
TRRNRRRRRRERN
(A) waE Tordl T UsHs BT €% O G §
(B) wErd @ T STEU® ¥ |
(C) weref &1 gerg afvia ¥ |
(D) wa® BIyemse ¢ |

200 A spur gear with pitch circle diameter D

F

has number of teeth 7. The module m is
defined as -
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(B) m=—
’ D

© m="2

A

D) m=D.T
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